R$ETA+ EREHE - BFER EFE o1
1. ANV ERD K. (SH228, A35F%, BMKS0F, CH15720% )
(1) ArAZIANZET Ol sz 2, T Ol o 7o & X, ADA DD ZED 24 72 - 7.

(2) 2E»5300MHT2OEDZ L, 200HTOoOEDZLEXDH, 5000 HZL EDBZ I LN TE 3.

(3)  1ARHEEZILAIOLZ L, 1 NIC21AKTOAZ XD D, 210 KD LTI,
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2.

fIANVEDRD K. (S22, Af35#, B#MKS50F, CHe153 208 )
(1) XL BAEELIANCSET OB -7z &, 5T O - 72 &, BRI DD 60 7= - 7=.

(2) ZEH»SHA0MFTOEDZ YL, T00HFToED 2 XXy, MEAIX 7500 DL k5.

(3) 1TANCH—FZE26HITOMZ L, 1 NITISHTORLS KD B, 1040 1%  HET=.
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R#HTAE EZEHHE - BFEE EBE 01 FEHESH

1. fAAWZRD K. (SHh22F), AK358, BHKS0R, C#K153208 )

* ZEHE 1A (B) OEXAE (BE)=2F0E
* ZEHE AR (OF)=2FDZE+1 A (B]) DE

(1) APAZIAZEATOlLo7c 2 THT DR -7z & T, ADADKEDZED 24 f72 5 7.

* ZEHE A (BE)=2F0ZE+1 A (E) 0E

AN = 2% + 1 ADE
24 + (1-5) = 12A

(2) ZE»S300M3To8DH2L, 2003 oEDH2ELDD, 5000 2L EDEIENTES,

* ZEHE AR (@A)=2FDE+1 A (B) 0E

AN = 2Kz - 1 ANDOE
5000 = (300 —-200) = B50A

(3) 1ANCHEZIGATOMZ L, 1 NIC21 A TOR 2 LD b, 210 KD 7 THie.
*x ZEHE A (EH)=2FDZE+1 A (E]) DE

AN = 2koE - 1 ADE
210 +~ (21-15) = 35A
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2. fAWZRD K. (SiHk228, A35%, BH#k50#, C#k15720% )

* ZEHE 1A (E) OEXAB (BE)=2F0E
* ZEOHE A (OF)=2FDZE+1 A (B) OE

(1) XL BAEELIANCSEAT OB -z &, 5T O - 72 &, ME DD 60 ff7Z - 7=.

* ZEHE A (EAH)==2FDE+1 A (B) 0E

AN = 2o - 1 AD#E
60 +~ (8=5) = 20A

(2) REPSA0MHTOEDZ L, T00HFTOEDZ L XL D G, BEIX 7500 DL %3,

* ZEHE A (EAH)==2FDE+1 A (B) 0E

AN = 2koxE « 1 AND#E
7500 <+ (700 —450) = 30A

3 1TARZH—FZ26HTOBCEE, 1 NITI8KTOBLS LD B, 1040 W  HETZ.
* ZEHE AB(EH)=2FDE+1 A (E]) DE

AN = 2oz + 1 ANDE
1040 + (26—18) = 130 A

© BeE - SRR L7912 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

